°
(=) = El (o] il 24
OlRE! B A AE|QI2|A AE! EFR] B(Z™ LIAL AIZ)
=S MdYH/XIE olo]x|
Sp—— MO
Rost a3
froei
THEL:
AE|QIFA AEl1.4548.
M o2
43t %2l,40 HRC, Atei™ Ot F 2|
HH.
I8 LEARZF &7A B S ElLiCE
=5
L D5335%
08
v/ Q§ D6
D7 (3x120°)
_ | j
3 H &
S|la I . — | S
|08 = i %72/ S
[ r t : ~y =
i ;
%
il 2 D4
D5+r,4
ES %
O2E 24, AH|ol2|A AEL EFR] B(Z™ LIAL MZ)
TN D D1 D2 D3 D4 L L1 B D5 D6 D7 S T BB
Hlo|A ZJ|0|E-
A H
K1477.13 13 17,3 3499 44 25 1156 45 7,6 35 135 M4x7 20 11,91 20
K1477.16 16 20,7 3699 44 29 1156 45 76 37 21 M4x7 20 11,91 20
K1477.20 20 248 4499 54 35 1582 6 95 45 21 M5x9 25 16,21 25
K1477.25 25 304 5499 64 42 1994 7 11 55 255 M6x10 25 20,32 25
K1477.30 30 362 5999 64 48 2177 7 11 60 305 M6x11 30 22,15 30

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



o
SE| & E X %
OH2E 4, AHQl2| A A8l ELR] B(XM LIAL HZ)
=29
FE®Ws D D1 D2 D3 D4 L L1 B D5 D6 D7 s T EIEN

HO|A Z&0|E-

FAH

K147735 35 413 6999 84 56 2261 9 14 70 40 M8x17 32 22,99 32
K1477.50 50 584 9199 104 75 31,12 11 17 92 55  M10x18 45 315 45

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



